| N of associated (recoToSim) duplicate tracks vs hit |

[N of associated (recoToSim) tracks vs hit_]
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16 18 20

6 8 10 12 14
track 3D layers

4

2

o

track 3D layers

2 4 6 8 10 12 14 16 18 20

©

track 3D layers

10 12 14 16 18 20

8

18 20

10 12 14 16
track 3D layers

8

o 10
© & N @ 4
= [9) o
> > 4
=3 X} =
g 12 ko) 4
s ® & %
© = — a — ]
_ﬂy g % 5
Jo & z B
[t} 12 ] £ m 1
1o R 2 1
< 2 g
12 0 g
Jo 2 2 ]
Jo g . g
— W . b= B
3 t ]
g 1 g
= , = i , , 2 i , 7 )
=] o £ =] o o ° 5 o o o <
— — s — 1 — z — B —
syoeu areaidnp L= syoen areondnp oney L syoen areondnp oney
o Te}
o & N2 0
= [} 9]
> > ]
R 3 =
Sl | b L Jox T 1
= N ©
Jo X
3 g a
< ]
o Q
1o 49 g8 4
Jo ]
<
Jo ]
4O
2] : —
Jo : 1
~ 5 Lo
4o H
— . -
1
Cad [ I a—-}
g o o ° o 5 s 2 Dl 5
— =1 — — — — -~ —
SHRENENEN oney Syoel) axe) oney syoel] axe} oney
< <2 © 0
: kN NE] [
> >
40 Jou s ke 1
o « N W =
o X
Jo N M — o - 4
o B o 5 k] 5
— s < g 4
I 42 2 = s
[« 9 4
I P ] ]
o 2 2
iR 4 — g 8
[N = =
e 3 & 1
o - 3 2
B 2
E - ]
12 b = E
g g
= g
Jo g g
=2 =3 a 8
E =
L syoen enn L
< < 2 o
= L=k 3]
It} = B
- 1 JN = - -1
o Q11 [\t b
: 8 o8 =
: 12 ¢ N = S e
. 13} = x
AT 4% S
e} = 1
" E Jo —
N — =
. g —
R T £ 5
H . [} <
. . B X a J
. CR PR T P ol o™
AR E B 2 2
: : S S S b
§ : o 4
: e e |8 g
. H 3 o 3 3
L L ) S 2 o
l o) = = °© - —
© o (=} [s}
z z z
syoeln oney syoen oney L syoen syoen oley




	Contents
	Page 1


